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= 8,231,904
2 2,249,628
I} 745,204
Al 28,260,615
MASS MEH NA(ASSX/IEZMS2ET) 12,361,684 11,735,101 626,583
=2 8,224,927
= 701,453
Im} 275,618
Al 3,159,686
ZOIME X 12,361,684 11,735,101 626,583
=2 8,224,927
= 701,453
I} 275,618
Al 3, 159,686
SXHMK 86,360 87,113 AT53
101 Q1248 994 953 41
04 JI2HIRISE S 994 953 41
OMBHHIZS X 0= oI
36,8002 *3 *32 33| 994
201 Yet2 HH| 25,246 26,400 A1, 154
01 AL 2relHl 25,246 26,400 A1, 154
O1. gyt 24| 8,000
—=XNHE Ao g 8,000,00024 8,000
03.282g 11,550
NS H HESR A
70,0008 * 158§ x5 5,250
NS AM AR BMaY
70,0008 * 158 x63| 6,300
O5.2 | 3,696
~ENEY EW ORA22X D4
7,000 x4 * 122 113 3,696
O6. 2% 2 2,000
Tl BIBST &M AR
500, 0002 *2CH x2 2,000
202 07 b 18,360 18,000 360
01 =L O bl 18,360 18,000 360
O=NH= R0
60,0002 4 *32 83| 5,760
OB22 ASISTAL SZHESA
60,0002 ¥33% 2 3,960
OMEISNHLBLE SHE3
60,0002 ¥33% 2 3,960
OASX Y HASKEA
60,0008 %22 32 133 4,680
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203 P =&yl 10,000 10,000 0
03 A=A 2| 10,000 10,000 0
OFMETA AIMALSFEH 10,000,000 10,000
301 B2 A= 21,760 21,760 0
01 At EEE6ll=3 10,000 10,000 0
OJAtA X EERIZ2S 10,000,000& 10,000
10 AR HIE &2 11,760 11,760 0
OXNEAM=XNEAM HFHA W0
60,0003 x28% 1,680
OAMZ=XNESG HEAE A&
60,0003 x28% x6 10,080
307 SI2H0| & 10,000 10,000 0
10 AtBI =X 2= 10,000 10,000 0
OAaIZXI2l & At 10,000,000& 10,000
SSEXNEEMAMA(BZ) 40,336 29,552 10,784
= 20,168
& 6,052
Al 14,116
201 LBr2gH| 16,130 20,688 A4 ,558
= 8,065
& 2,421
Al 5,644
01 AR 2teld| 16,130 20,688 A4,558
O1.et=ZH| 8,090
“Atell 2l et 29 2 22 8,090,000 8,090
= 4,045
& 1,215
Al 2,830
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= 2,970
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Al 2,079
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-Atellgl ol A G 70,0003 10 x33| 2,100
= 1,050
& 315
Al 735
301 etz azgd 24,206 0 24,206
= 12,103
& 3,631
Al 8,472
01 Al 2 EE0ll3 22,806 0 22,806
OAtedl 22l ALY 22,806
-z Y X 8,000,000& 8,000
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dslo2d Z4 7,000 *x20H x 102! 1,400
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& 210
Al 490
NS =XAMEIASAALS 1,169,243 1,075,831 93,412
w 275,618
Al 893,625
201 ZEt2FH| 14,396 12,944 1,452
01 AR 2teld| 14,396 12,944 1,452
O1.Yo+8H| 10,000
-NMHIAS Lt=EH| 6,500, 000& 6,500
-8CH MBIAG K8 220l
10,000& »350% 3,500
03.2g4g 1,120
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70,0003 x2EH #2 Al 2Hx43] 1,120
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202 (44| 4,320 4,320 0
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301 et Az 74,880 37,920 36,960
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Ozonoew Pz
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10 BAAH 2 A3 10,200 10,200 0
Ol & NET-WORK &3] OH|
60,0003 38 x2 4,560
Os8s =Xd WY 60,0003 x50 3,000
ONBISNSEAMHAR2RE D0l
60,0003 x11H *43] 2,640
307 21Ztol 1,075,647 1,020,647 55,000
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05 QIZtRAE 2 1,039,907 984,907 55,000
OSEAIZIEX 2 EAL ]
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OZEeAlg =X 2 229H[(01Y) 989,907,000 989,907
imi 275,618
Al 714,289
OZYSEA =2 gt 2
5,000,000& 5,000
10 At SXIE X 35,740 35,740 0
(OPJEE=- ] 35,740
-Malz 100,000 x50 A %128 6,000
-XtEFE 9| 2,974,000& x2CH *5IH 2~ 29,740
NEEXN MU AETFAIL(EX) 1,785,525 1,690,343 95,182
= 1,249,868
& 160,697
Al 374,960
307 212+01 A 1,785,525 1,690,343 95,182
= 1,249,868
== 160,697
Al 374,960
10 At SKIE X 1,785,525 1,690,343 95,182
OXN Y AIS MEI AEXALS 1,785,525,000& 1,785,525
= 1,249,868
== 160,697
Al 374,960
NE=INE 58,220 100, 161 A41,941
201 Lere A 9,420 9,140 280
01 AtR22t2|dl 9,420 9,140 280
O1.4BtEH| 4,800
-KHEH X E et24| 4,800,000& 4,800
O3. 8294 1,540
-XHED| 28N ) B
70,0003 114 %23] 1,540
O5.2H 3,080
-XHEX S 2R 34
7,000 x4H 102 x113] 3,080
202 O 4l 3,600 4,320 AT20
01 2LHO HI 3,600 4,320 NT20
OXEXd HdRF=X0YI
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301 et A 10,200 10,200 0
10 HAIAHI 2 A2 10,200 10,200 0
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10 AtEI =X 2= 35,000 76,501 241,501
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= 5,342,191
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Al 1,039,879
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206 M Z 8| 150,000 150,000 0
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& 5,871
Al 23,484
01 M Z I 150,000 150,000 0
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= 120,645
& 5,871
Al 23,484
307 21201 & 3,598,299 3,000,000 598,299
= 2,894,112
& 140,837
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10 AtBI =X 2= 3,598,299 3,000,000 598,299
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= 2,894,112
= 140,837
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6,048
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301 et as 436,050 318,749 117,301
345,702
27,103
63,245

= HnH

01 Al 2FH =53 436,050 318,749 117,301
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14,400
33,600

=z H
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14,400
33,600

= H
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14,400
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& 56l= 350,000 350,000 0
S FHES20W =AY

350,000,000 350,000
280,000
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ORYANE =2 20,0003 x50 *33] 3,000
HAIAMHIEAZ 9,480 6,960 2,520
Odled Xt Aol 10,0002 10 »12& 1,200
ORSIAIL UAOHH(RI2HI)
60,0003 x1HE«12& 720
OAALR oty X =
30,0003 31 +7L*12& 7,560
307 QI2tol A 1,460 1,460 0
01 92+ =Hl 1,460 1,460 0
OREsht =83 30,0003 *x30 900
ORESK =4l 7,000& «40H 24! 560
2ol SIAE2Y(EX) 27,070 23,827 3,243
= 18,949
= 8,121
307 S12H0| & 27,070 23,827 3,243
= 18,949
L= 8,121
10 At S X2 X 27,070 23,827 3,243
ORUASTALE 29| 27,070,000& 27,070
= 18,949
& 8,121
KNEAS SXNEAM2GRNA(EX) 49,000 48,000 1,000
& 6,000
Al 43,000
307 2I2toI A 49,000 48,000 1,000
& 6,000
Al 43,000
10 At S X2 X 49,000 48,000 1,000
OXZ Az =X E2AH K& 49,000,000& 49,000
= 6,000
Al 43,000
3=XNE SSFHALE(BEX) 54,000 54,000 0
= 16,200
Al 37,800
307 gIz2toI A 54,000 54,000 0
& 16,200
Al 37,800
05 BIZtRIEZ 54,000 54,000 0
OZEE=EXN & EstASHl X& 54,000,000& 54,000
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=
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DIME X A (ASI =X /I ZMSST)

=MW
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3,473,468
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SRR
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39,366,411
3,473,468

52,245,663

A2,107,339
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20
B
2

5,128,244

= HnH

37,038,451
29,342,719
2,567,488
5,128,244

38,233,934

A1

, 195,483

s 4A30

37,038,451,000&

= N W

37,038,451

37,038,451
29,342,719
2,567,488
5,128,244

38,233,934

A

, 195,483

= Hn W

8,227,148
6,517,053

570,242
1,139,853

9,320,258

A

,003,110

= HnH

8,227,148
6,517,053

570,242
,139,853

—_

9,320,258

A1

,093,110

%

]
FC od

2
O =
W
e H
oo
i 1
0=

A =AHA=A

8,227,148,000&

= Hn W

8,227,148

8,227,148
6,517,053

570,242
1,139,853

9,320,258

A

,093,110

= Hn N

—_

,587,364
,254,434
109,762
223,168

—_

1,340,822

246,542

= HnH

—_

,587,364
,254,434
109,762
223,168

—

1,340,822

246,542

1,587,364,000&

= NN

1,587,364

—_
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,254,434
109,762
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—_
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246,542
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= Hn W
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844,288
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ekl X2E(EX) 336, 144 267,497 68,647
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43,699

= N W

301 et as 336, 144 267,497 68,647
268,915
23,530
43,699

= HnH

01 Al 2EH =613 336, 144 267,497 68,647
Oxtetel &=gel 336, 144,000& 336, 144
268,915

23,530
43,699
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HAZHSH(EX) 244,102 274,979 /30,877
193,483
16,929
33,690

= H W

301 Lt as 244,102 274,979 230,877
193,483
16,929
33,690

= N W
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= H W

O MEA LI SEL(EX) 988,624 86,746 901,878
494,312
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346,018

=MW

402 RI 2201 & 988,624 86,746 901,878
494,312
148,294
346,018

= HnH

01 BlIZtA=Ex 988,624 86,746 901,878
Oaotelorel

| MEIDE ABFAIA JHE S

488,624 ,000& ~ 14! 488,624
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171,018

= Hn W
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Ock20l
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ek
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= HnH

= N W
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= N W

300,000 226,586 73,414

300,000,000 * 14| 300,000
137,500
41,250
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= H W
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307 gIz2tol A 37,333 47,400 210,067
& 28,000
Al 9,333
10 At =S X2 X 37,333 47,400 210,067
O ONI KIS ASI THEAIAR XX (20H) (01 D) 37,333
-G =AAE0H A=K 2 24,000,000& 24,000
& 24,000
~ZE A3t S HEH 13,333,000& 13,333
& 4,000
Al 9,333
SR SEEN2EF 1,730,940 0 1,730,940
401 A& HIS 2 CHYI 1,730,940 0 1,730,940
01 A& HI 1,700,000 0 1,700,000
OSTHMAZH=ZNZ &S
1,700,000,0002 14! 1,700,000
02 Zcldl 26,010 0 26,010
OSTHMAZH=ZNZ A5 Zealbl
1,700,000,0002 1.53/100 26,010
03 Al R 0HHI 4,930 0 4,930
OSTTASEH=TZ AS ALRHY|
1,700,000,0002 0.29/100 4,930
T HEFMUSEENE SE(EX) 700,000 0 700,000
& 600,000
Al 100,000
402 QI2H X201 ™ 700,000 0 700,000
= 600,000
Al 100,000
01 DIAT=EE 700,000 0 700,000
O GETMA=NR 55
700,000,000 =14 700,000
= 600,000
Al 100,000
O =KX 12,286,407 11,449,329 837,078
= 79,200
& 2,187,376
= 2,249,628
w 469,586
Al 7,300,617
WEAD TR &g AP (EX) 25,000 0 25,000
& 12,500
Al 12,500
307 SI2H0| & 25,000 0 25,000




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

ol FOHOI= XX (Etel:&e)
_ _ _ Muo
SA B G(E) - NEAY - B O & o4 i HREZ
< 12,500
Al 12,500
10 Sl =X 2 X 25,000 0 25,000
ORSAD LA AESAY 25,000, 00084 25,000
= 12,500
Al 12,500
SOIISRAUANEEXR(EX) 28,851 28,851 0
= 8,656
Al 20,195
307 QI12+0| ® 28,851 28,851 0
= 8,656
Al 20, 195
10 A1 =X 2 X 28,851 28,851 0
OSO0IISEA A 2SR (5Y)
28,851,008 28,851
= 8,656
Al 20,195
+SESAME 2Y(BX) 155,000 150,000 5,000
= 17,460
il 25,998
Al 111,542
307 QI2+0| ® 155,000 150,000 5,000
= 17,460
inl 25,998
Al 111,542
10 Al =X 2 X 155,000 150,000 5,000
O+ EAHEHSY(01Y)
155,000, 0002 14 2 155,000
= 17,460
il 25,998
Al 111,542
& 01 Q1 = X| X & 1,125,260 979,284 145,976
101 @1 24| 36,240 30,200 6,040
04 JIZHIZNS S 36,240 30,200 6,040
OFfe SEXH Al (oY Xtel &E) 36,240
Q14| 200, 0002 «242 +7 2 33,600
-28 2 =i 10,0009 24 2,640
201 2Bre | 59,000 50,524 8,476
01 Ak 22l 59,000 50,524 8,476
O1. 2ptagH| 11,400
~HOHQINIY MEFXTY OHYEXE
200,000 %1224 2,400
- 04Ol EXIT RIF 1,0002! *2,50074 2,500
-ZOHQl SXIAIZ O M 2,000,000% 2,000
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

CHol: ROjOI= XX S CER-E
S E O (EH) - MRAY - B Of 4 o e 2t
- o= T ° - [= Bl e =5 O:H{ﬂ,%

HOFNCS B BEA M
3,000,000& 3,000
O EHH S A4S AL SEIH KM
30,0003 5074 1,500
O3.28=¢ 10,920
CHENE $3NH Ao AL
70,0003 x7E 120 & 5,880
“HEXY 0|YMH MogE HHLY
70,0003 x6H 1201 & 5,040
O5. 2| 3,080
SHOOIASEN OFAT2 4
7,000& x4Hx10L * 112l 3,080
06.dxt = 33,600
~HOHCIEHX AtRA E M2 33,600
A2 - SO0tE 0l 3l
1,300,000& *20 A x12& 31,200
CNEZEOfCIE S 200,000 * 100 12 2,400
202 ¢ddl 5,760 5,400
01 SLHA b 5,760 5,400
O =R LRFE0MYI
60,0003 x4 H «3 x83] 5,760
301 etz a3zd 56,660 56,660
01 At EEE06ll3 29,240 27,440
OQFMA=XALE A2 15,240
~SOHCI M E Al E (OF2I0t2 -2l 814 )
20,0003 230 *32| 13,800
~HOHISSMEIH (6IHL)
20,0003 x24H 33| 1,440
OMASHOjOl METHEIR D2
1,000,000& x14H 14,000
10 HAAHIE A= 27,420 29,220
OSHS Zofelel & J1gal FItodl
60,000 *80H 4,800
OHOMAXEA =&HA3 &HIKHI
60,0003 x4 H x2 »7IH &Kl 3,360
OEXIZO0I2 & JIEdHA EIH0
60,0003 »40H 2,400
Ol d=JsZJItHal FIHoH|
60,0003 x 10 x4 2,400
OFe H=2EIIsEJItH= &Iteh
60,0003 12 3 2,160
ONMZ2=HEHM0 DictEta A0
60,0003 *x35% 2,100
OAN2ZOel =3 HEguns o]
60,0003 x30H 1,800
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A FUSEX
HI: AWUEXNSE(AESX/FHLHESXH)

Sl FOjOI= XX & CrRL
_ _ _ N E
SM-EH . C(BH) - HRAY - B2 0 Ak o4 Gl o bRz
ONATOO! =3 =OIZ XIS AL &ILOIH|
60,0001 * 158 900
O=0t9! £33 TH3l &IH0iH]
60, 00021 *15% 900
OROKOl QHUAMUE U HLSHDT HIIO
bl 60,0002 *158] 900
ONX o RH& Zoje ¥=2220)s] L 0|
CHEl & Dot bl 60, 00021 * 153 *22 1,800
OXIH 2 THES Z0HQl GISHI &Itoiy|
60, 00021 *40% 2,400
OFOHSH U - SAK S5 &0
60, 0002 *258] 1,500
307 2I2H0| 937,600 776,500 161,100
05 DIZHSIE S 33,000 30,000 3,000
OZNWABH=X 0ESSHY 29
11,000, 0002 *3CH 33,000
10 MBI = X 2 904,600 746,500 158, 100
ZOjOl MEBAIL SEUHH KR (EO L
SUNPED 1,500,000 %97} 4 13,500
OROHOI=RIEAl 2HEl 30,000,000 x2CH 60,000
OXNHBOjAI=X S X2
500, 00024 *1CH*122 6,000
Os010183l XHZF2Y 500,002 =204 122 2,000
OZZZ0jl PE4SH 2% 25,000,008 25,000
OZSHNBIS) oINS HE
10,000,002 63| 60,000
OFOHOISl & 1 U QT (AISHFIZA)
25,000,002 25,000
OFOHQIHAME 2% 42,000,002 12 42,000
OF 0Nl LRr2IAR (21 24HI)
310,00021*1108§ +72 238,700
OMASHNY FALSAL 0188 X
50,0002 +502 122 30,000
OZOHO! M MEAIL 2]
1,250,000 #27H %12 30,000
ONFAAT BIE 22t X
1,200,0002 * 122 14,400
OF0hstay OP3HHOl 22 18,000,0008 523l 36,000
OZ WIS ARA 2| K&
500, 00024 *67H £+ X122 36,000
OLSHMHQ HEHSS 2 40,000,000 40,000
OMAS ZOHQIFE FHBLHLAY K&
3,800,000 * 107} 38,000
OFAZOHL L IIE S +3DA 2
15,000, 00024 15,000
OXHBONO! ASISI DS 18,000, 00024 18,000
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A F=RSX L
Hz: IR Z=SE (ASI2X/FHLHSKH)

Sl FOjOI= XX & (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SEEEIEEEFET EESIEE
15,000, 000! 15,000
OZNWANE S2Y 2|
50,000,000 17 50,000
O HOILTIZIALY K2 (HHIALYS)
30,000,000 *37H 90,000
OZMWARSHHO EFLeIME 2
1o,ooo,ooo% 10,000
401 Al & HI L2 THY| 30,000 50,000 20,000
01 Al& 8] 30,000 50,000 20,000
OZZ A FHABINL =5
30,000, 0002 14! 30,000
OIS XAIE BAX 2 (2E) 480,400 429,322 51,078
= 120,100
Al 360,300
307 2120 480,400 429,322 51,078
= 120,100
Al 360,300
10 AFEI = X B 480,400 429,302 51,078
O MHOIZRIAIL BAX £Z 480,400,002 480,400
= 120,100
Al 360,300
HOjIMBAE 2Y(2X) 5,019,960 4,662,000 357,960
= 620,560
= 2,190,620
Al 2,208,780
307 2I12H0| 5,019,960 4,662,000 357,960
= 620,560
= 2,190,620
Al 2,208,780
LEENEES 5,019,960 4,662,000 357,960
OZMHOIMBAILSE(0/Y)  5,019,960,0002 5,019,960
= 620,560
= 2,190,620
Al 2,208,780
DOOISESSAAXA(SE) 35,000 35,000 0
= 8,750
D 3,750
Al 22,500
307 220l 35,000 35,000 0
& 8,750
D 3,750
Al 22,500
TS 35,000 35,000 0
OZMWOISHSSAS IR (01Y) 35,000,008 35,000
& 8,750
D 3,750




SN FO=XD
M HOHQAZSE (AME =X /HAHSKR)
Sl FOjOI= XX &

SNBSS - MEAY - BES

[
2

20
B
2

Al

22,500

= H

99,000
24,000
75,000

99,000

307 21Z2tol &

=

99,000

24,000
75,000

99,000

10 At S X2 &
o

OXHMEOABEHIAIE &FXE 99,000,000

=z H

99,000
99,000

24,000
75,000

99,000

= H

138,629

38,508
100, 121

135,000

3,629

307 2IZ2tol &

= H

138,629

38,508
100, 121

135,000

3,629

o
>
tou

o i

ANEXNEEH 22
138,629,000&

= H

138,629

138,629

38,508
100, 121

135,000

3,629

>
I
03
)
e
el
>
P
0
iz
m
0
11
T
o

=

184,839

55,452
129,387

180,000

4,839

307 212+01 A

=

184,839

55,452
129,387

180,000

4,839

10 AHRI S X2 X
]

OAlIZZoieIstsXAMEHEZE 184,839,000

= H

184,839

184,839

55,452
129,387

180,000

4,839

> HL N

,103,514

130,420
59,008
914,086

1,082,880

20,634

307 212+01 ™

> M N

,103,514

130,420
59,008
914,086

1,082,880

20,634

10 At S XI &2

OZ0ofelr 2

2 HA

1,103,514,000&

= HL N

,103,514

,103,514

130,420
59,008
914,086

1,082,880

20,634




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

el D=2 XX (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
ZONQl THOI2X2AIME 29(BX) 92,419 90,000 2,419
[= 18,484
iml 46,723
Al 27,212
307 @I2+0| ™ 92,419 90,000 2,419
[= 18,484
iml 46,723
Al 27,212
10 I EXIEX 92,419 90,000 2,419
OZohe! THOI=2 X ZSAMME 23 (01Y)
92,419,000 92,419
[= 18,484
iml 46,723
Al 27,212
ZNOIFABSAILE 2F(EX) 427,626 416,430 11,196
[= 99,509
iml 18,400
Al 309,717
307 @I2+0| ™ 427,626 416,430 11,196
[= 99,509
iml 18,400
Al 309,717
10 I EXIEX 427,626 416,430 11,196
OFQ =2HESAE 22 (01Y)
85,525,200 *5IH A 427,626
[= 99,509
iml 18,400
Al 309,717
ZCICH) BB AL 29 (EX) 236,294 210,142 26,152
[= 71,545
im] 26,150
Al 138,599
307 @I2+0| ™ 236,294 210,142 26,152
[= 71,545
iml 26,150
Al 138,599
10 I EXIEX 236,294 210,142 26,152
OXOfQ SHIESAIE 2F(01Y)
236,294,000 236,294
[= 71,545
iml 26,150
Al 138,599
I ZSMEDIHR2H(BX) 345,035 252,000 93,035
[= 79,360
iml 40,000
Al 225,675
307 @I2+0| ™ 345,035 252,000 93,035
[= 79,360
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)
el ZH=XXHA (el &g

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

40,000
225,675

= K

10 At S X2 345,035 252,000 93,035
OZHe ZSMEINE 2H(012)
43,129,3753 *8IH & 345,035

79,360

40,000
225,675

Eall SN

0z
2
re
0z
!
o
x
m
HO
02
H
FA

318,335 310,000 8,335

63,679
36,565
218,091

= B

307 212+01 A 318,335 310,000 8,335

63,679
36,565
218,091

= BN

10 AEI =X 2 X 318,335 310,000 8,335
OF0jQ ASSHE 2(01Y)
318,335,0002 318,335

63,679

36,565
218,001

= B

03
2
=
o
i
I
>
i
Ho
08
T
A

930,000 850,000 80,000
35,000
272,000
623,000

= B

307 212+01 A 930,000 850,000 80,000
35,000
272,000
623,000

= K

&
e
o
10

= 930,000 850,000 80,000

e Jm

O
04
2

930,000,000& 930,000
35,000
272,000
623,000

= B

o
H
0
>
H
x
=
M
02
T
A

260,000 260,000 0

78,000
182,000

=z H

307 212+01 ™ 260,000 260,000 0

78,000
182,000

= H

10 A2l S RI2X 260,000 260,000 0
SAE 2Y 260,000,000& 260,000

78,000
182,000

=

HAZOHQ JIAIS RO HAAS (EX) 50,000 50,000 0
3,750

H

_21_




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

ol FOHOI= XX (Etel: &8
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
Al 46,250
307 812+0| H 50,000 50,000 0
= 3,750
Al 46,250
10 A S X2 E 50,000 50,000 0
OO0 NAINAE R0 THAAYS
50,000, 0008} 50,000
= 3,750
Al 46,250
NEZHANAME S (R F) 100,000 100,000 0
= 25,000
Al 75,000
307 QI12+0| ® 100,000 100,000 0
= 25,000
Al 75,000
10 A1 =X 2 X 100,000 100,000 0
OXEFNAXBME 2 100,000,0002 100,000
= 25,000
Al 75,000
SAAFRUEN RS Y (EX) 800,000 800,000 0
= 560,000
Al 240,000
307 QI12+0| ® 800,000 800,000 0
= 560,000
Al 240,000
05 BIRt2Iet 2 800,000 800,000 0
OZAABHA=X 2 2 800,000,000 800,000
= 560,000
Al 240,000
0N QI Db A2l BRI AbE (2 X) 31,200 30,000 1,200
= 7,800
Al 23,400
307 QI12+0| ® 31,200 30,000 1,200
= 7,800
Al 23,400
10 A1 =X 2 X 31,200 30,000 1,200
OF 4 QI DI AL 2r2l ALY 31,200,00084 31,200
= 7,800
Al 23,400
OISR BME S (2 X) 150,000 150,000 0
= 75,000
Al 75,000
307 812+0I A 150,000 150,000 0
= 75,000
Al 75,000
NEEIEES 150,000 150,000 0
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)
el ZH=XXHA (el &g

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

OFMLIIEXNEEHZE 150,000,000 150,000
75,000

75,000

= H

THOIEOHQI A REHYRER02I(EX) 20,000 20,000 0
5,000
15,000

=

307 212+01 A 20,000 20,000 0

5,000
15,000

=z H

10 AHI SR E2x 20,000 20,000 0
OMILE BFHYEE=R0I2H
20,000,000 20,000

5,000
15,000

=

BEYALZF0HQ CHOIAITIIA A (B X) 99,000 99,000 0
79,200
19,800

W

307 212+01 ™ 99,000 99,000 0

79,200
19,800

M

10 A2l S RI2X 99,000 99,000 0
OZZ2E AIZIZ 0N CHOMAL IFA ALY
99,000,000& 99,000

79,200
19,800

oW

ZOHIMBAIE XA (EX) 31,045 30,420 625
9,043
22,002

=

307 212+01 A 31,045 30,420 625

9,043
22,002

=

82X 31,045 30,420 625
OZOHl AL BTESKF 11,700,000 11,700
3,510
8,190

= H

OZOHQIMEA LUK 2AFHl K&

11,700,000& 11,700
3,242
8,458

= H

Jol-

O
0
=
ro
0z
i
>
x
1o
B>
=
e
0

zH|

4,000,000 4,000
1,200
2,800

=

OZOHQI ME AL AT FAH| K&

3,645,000& 3,645
1,091
2,554

= H

_23_




SN
X{ ZH -
S Tt

=EaE

==X

ZHA=ZXNEST (A EXN/HLASIIE)

O QI A4 B 0L K| 2

== O

i

o

Al OH

— T

20
B
2

= H W

11,954,327
8,030,884
1,052,063
2,871,380

10,867,939

= N W

674,425
472,097

70,815
131,513

575,586

98,839

307 212+01 ™

= HnH

674,425
472,097

70,815
131,513

575,586

98,839

10 AFRI S X2 X

OZOHOtSMHEX =2 (Bt A )

674,425,000&

= HnH

674,425

674,425
472,097

70,815
131,513

575,586

98,839

= HnH

2,327
1,163
582
582

6,936

A4,609

= H W

2,327
1,163
582
582

6,936

4,609

2,327,000&

= N W

2,327
2,327

1,163
582
582

6,936

24,609

= N W

38,000
19,000

7,600
11,400

38,000

402 RI2tX=2 01 &

= Hn W

38,000
19,000

7,600
11,400

38,000

01 BIZtAi=Ex
&

3,800,000 102t =

= N W

38,000

38,000
19,000

7,600
11,400

38,000

ZOHQRHASHI X2 (2 X)

o

8,567

6,856
511

15,737

AT,170

_24_




SN
D BOHAIZXSE(AEZX/HAANETR)
£l

X ZH
o=

==X

X 0H Q144 2 OFH X 2

== O

[l

L RE-E

- SHRI(EAH) - NEAY - BE=

[
2

=1
B
121

1,200

= HnH

8,567
6,856

511
1,200

15,737

AT,170

8,567,000&

= Hn W

8,567
8,567

6,856
511
1,200

15,737

ANT,170

= M

25,947

7,881
18,066

28,344

N2,397

= H

25,947

7,881
18,066

28,344

N2,397

25,947,000&

= M

25,947

25,947

7,881
18,066

28,344

N2,397

=MW

6,163
4,931
369
863

17,588

A11,425

= Hn W

6,163
4,931
369
863

17,588

A11,425

6,163,000&

= H W

6,163
6,163

4,931
369
863

17,588

N11,425

= H W

2,081,340
1,316,940
169,320
595,080

1,727,921

353,419

= N W

2,081,340
1,316,940
169,320
595,080

1,727,921

353,419

2,081,340,000&

= NN

2,081,340
2,081,340

1,316,940
169,320
595,080

1,727,921

353,419
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SN OIS XD
B ZOHQI=XBE (MBS X /HLHEX )

CHOl: EOHQIA B QLN X| 2 EEREED

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

ool 2 X2 (BX) 315,580 278,937 36,643
252,464
18,934
44,182

= H W

301 et at= 315,580 278,937 36,643
252,464
18,934
44,182

= N W

01 A3l 2EE =052 315,580 278,937 36,643
Hl XI& 315,580,000& 315,580
252,464

18,934
44,182

= NN

ZOHQI =X LXK (EBx) 210,270 158,862 51,408
105,135
31,541
73,594

= NN

307 212+01 o 210,270 158,862 51,408
105,135
31,541
73,594

= HnH

10 At S X2 & 210,270 158,862 51,408
OFI =X Rl X 210,270,000& 210,270
105, 135

31,541
73,594

=z HnH

ZOHHEEROIXNJAAS (EX) 456,039 411,255 44,784
228,020
79,807
148,212

= H W

101 21 2Hl 456,039 411,255 44,784
228,020
79,807
148,212

= N W

04 JIZMZ22RSE =+ 456,039 411,255 44,784
OFMHHE =0 X2 A 456,039,000& 456,039
228,020

79,807
148,212

=N W

Z s (HIee)(2xX) 3,050,647 752,974 2,297,673
2,135,454
274,558
640,635

= Hn W

307 212+01 & 3,050,647 752,974 2,297,673
2,135,454
274,558
640,635

= HnH
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SN OIS XD
B ZOHQI=XBE (MBS X /HLHEX )

SR ZOEAFNZ EERCE

i

OH

L RE-E

- SHRI(EAH) - NEAY - BE=

22

-/

20
B
2

ES
OFMNUESKA(HI2Y)

3,050,647,000&

=z HnH

3,050,647
3,050,647

2,135,454
274,558
640,635

752,974

2,297,673

=z HnH

4,948,607
3,464,024

356,300
1,128,283

5,617,831

A669,224

307 212+01 A

= N W

4,948,607
3,464,024

356,300
1,128,283

5,617,831

A6B69,224

019

4,948,607,000&

=z HnH

4,948,607

4,948,607
3,464,024

356,300
1,128,283

5,617,831

AB69, 224

K%
=]
ng
ne
=
0
HL
FA

= H W

24,000
16,800
2,520
4,680

31,200

AT,200

307 212+01 A

= HN W

24,000
16,800
2,520
4,680

31,200

AT7,200

10 At3l S X112
2

OAl - ELEFHMARL2 T AL X (HRA

24,000,000&

= HH

24,000

24,000
16,800
2,520
4,680

31,200

AT7,200

CHHE NS HNMEZERXA(EX)

= H W
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